( LFm4D

LFMAO O OOOOO )

m 0
gooooooooooooooon
goooboooobooo
goooboooobobooooo
goooboooooboog

LFM40 0O0ONO.1 £ONO.4

m [0
good
goood
goooobogooo
gooooon
goooo
goooo
000
D 0 LFM40
D O | NO.LEXONO4 | NO.50NO.7
00000000 100400
Doooooo Qossnon
0D 00000 |00
0 !00000 |00000000000
[
‘ SPCDO [
B:DDDDD SPCEL DD See
T
0! SPCDO [ SPCCINO.5CINO.6]
(0o0oY Tspcennn | AcamNO7D
;10000 |00/000460 |000460
0 10000 | 100200V 200V
00 0 0|0000P40D0D
DiD000 PLAM4O00000000
EEEERE!
0000000 0000 0000000

gobooooo (o0

01 000O00+«50000000000=+x20000
oooooooOoooooooooboOooboooso
oooooooooooooOooooooooo
ooooooooooooooo

mJ0gog

00000000000NO.40NO.70 ............ 00
00000000000M@MNO.1ONO.4O.....00
OO00O0ONOSONO.7O i, 00

LFM40 00O NO.50 NO.7

m 0000
oooo
0 0000000000 0000000000 | NO.4ONO.7
0| 00000dooooooooO0] NO.5ONO.7
E gooo0CooOo0oo00000DOD000D| NO.SONO.7
000000o0ooooogng | NO.5ONO.7

O

E 00ooo0o000 | 380/400/415V | NO.5O NO.7
ooooo NO.50 NO.7
E 000000ogoogo NO.50 NO.7
O |ooooos0oooooo NO.50 NO.7
E goooo400000000 NO.50 NO.7
00obo0o000o00000000| NO.5ONO.7

02 0000000000000 O00000000
00000000000

ooood
NO.1 £.0 NO.30
noooniot NO.50 NO.7
00000o0ooooooioo NO.4

OOoooboobooboOoboooo200 | NO.1 tONO.3

00000000000 NO.1 t.0 NO.4

00000000 OocooO000O0ODOOODOODODOOODDO



LFM40O DO O0OO0OO LFM4[]
C )

mggoo

D000 ed0000DOODDOOOODOOD \'____

goboooboboobDoooboooboOoodaB
J(}EEUEFF\

gADOooooooooo
gbobooooooobooooooobooboooooo
ooooooooboo

mggooog

700
600
500
0
400 L -5
o3 i |P”.45. 58
— 7 —
D, 275 ~
300 PLIMAS, 2T S %6‘
N . q
N
/ N,
N \
200 e T
S MR e
o I N e O
ae SRR M0 D4 NN
=TT~ N 48,
2LFM45. 0205 TN | N N & N \
N
/ ™ \\ \
100 70 ll \\ \ \ 1|
£ \ \ \\
E 8d \\ \
: N \\ \ 5,5
ea N \ VLY \‘ |‘
N
50 T T
N 1
A
ETi/50FN4s, 0158 1
\ '.
3a \ 4 61— 5715
/
20
\ 54, 59
\ /
p7.s /
/ /
y / /
5D 100 200 300 500 1000 2000 3000 5000
B & (ms/h)



( LFm4D Y EEEEEERD

mgJgooog

1000 I I I }
800 [ ————: 6PoHE =
Hl ®:5LFM45.5
— I
600 11 (®): 6LFM45.75 T
- o
50 = ©: 7LFM451.2 RER N,
400 | ] & 5\ 56 HH 6‘/‘2% 5;‘*“; UT\‘
57.5 3L‘F‘N‘ 2 i \‘:;ZL/ IBSI ’\(w i%f 77;:1 \‘
300 3LEMAS 27 S i M5 SN TS A \
N N 64PN~ 7
505 ™N N ALK, ¥
200 59 |
r A NSO Ky L |
\| ).
" 3LFM45.15 - ®\ T 3
E < .
100 £ 2
v T
Pa 80 / A ‘! }
- 1 69+
60 : 6.
S0 t 1 1 of 1172
Az }sss ; Y
“ i ity (i
i | I 7 }
30 4 rA » wamd
£ 7
yi 3
A yi 47 4 4 7
20 7 o o,
7 545 7
7 V|
7 ; /
ri
1055 100 200 300 500 1000 2000 3000 5000 10000 20000 30000
R& (m’/h)

10



(LFM4DDDDDDD

LEMA40] )
00000
1t LFM4OOOODOOO 60 1-410
--H—i _A/ %{élﬁ#ﬂuoms
- B
o~ =
3, NO. $ij ki
o -3z g -
B RS ~ 11/2| 12 |4.5
Y- & PE
READING
CABLE
®1.2m -
130 Lm
221
2 LFM40O0 000000
BViase N0 | B |BIE
— RS S
4 of oyf 0 25 |7.5
1) - K# b/ﬂ?E 2 40 |8
e N
Bl.in 80 |10
191 308
321

1



( LFM4[] LFM4O0 OO OO0O0O )

0000
3 LFM40 000000 ﬁ*ﬁ
Hh =
No. |
| o i iacs 150 | 23
T T = @0 3 | 270 23
i L 280 | 26
READING
CABLE -
Hl.lm =
261 400 e e
391 NO. kW | ke
0.15] 23
3 [0.27] 20
0.28] 20
4 LFM4O O OQOOO0O ¥$ﬁ
201 240 | 4-412 \o. | th [EE
E— 2001 /¥ W | ko
' 4 | 400 | 38
_ U7
— ° _
o =
[§N]
)~ 939 | —h NO- | kw | kg
spre e
Hl.lm 0.4 | 38
8- 10 =1 4 0.6 38
HED
] 0.9 | 39

12



( LEMAOOOOOOO LEM40] )
m 0000
507 LFM4O OO OO
A
I ETRT)
“T4qo o
N [/
g
TERMINAL N
BOX t - ¥
e ——
~—
VR X /| g I'%'I 4oof
ISOLATING
BA TR
BOLT HOLES
O00mm
NO. 0o A B C |D1|D2| D3 N hl | h2 h f 0o
kw kg
0.5 25 77
5 600 | 700|355 |630| 670|690 380(100| 80 12 | 10 | 12
1.9 25 77
0.75 33 97
6 670|795|400|710| 760|790 420|100 100 16 | 12 | 15
2.4 33 103
1.2 43 139
7 810(890 | 450|800 | 850|880 475|120 100 16 | 12 | 15
3.5 43 148
OO0o00o00oo00oo00oooooooa
507 LFM4O O OO QOQOQd
A H
A—— F
%ﬁlmks m l E P
\ .
-~ (18] °
0O ()
o
L |
000 mm
NO. 0o A B C D1 D2 L N hi n h 0o
kw kg
0.5 200 73
5 600 | 700 | 355 | 630 | 670 380 | 100 12 10
1.9 80 73
0.75 89
6 670 | 795 | 400 | 710 | 760 420 | 100 | 200 16 12
2.4 95
1.2 130
7 810 | 890 | 450 | 800 | 850 475 | 120 | 200 16 12
3.5 139

oNoSOOO0000000000000000000

goooooooooooooooo

13



( LFm4D Y EEEEEERD

m NO.1tLONO4 LFM4AODOODODOODO

oo gooo

oo O
O
100V 0o S

od

0
o— o
200V v U S O

0ooooooooooooooogoo

mLFMAODOODOOO0O0ODOONO.1 20NO.4T

ooo 0oooo
w | oo | oo 0o |oppg [0000 (000000 (0000 oo
oloo A min A 000 |oooo |00
10, | 12w 4 051 1450 082 | 62007Z | 620027
25W 4 0.59 1090 070 | 62002Z | 62002z
2 | aow 4 0.68 1260 095 | 62002Z | 620027
80W 0 4 11 1355 20 | 62022z | 620227
5 |100v ooo
150W 6 16 930 39 | 620477 | 620427
3 | 270w 4 2.9 1270 44 | 620477 | 620427
280W DIPD45 4 37 1405 08 | 620477 | 620472 | _
a | 400w |05 4 56 1425 154 | 620477 | 6204z
0.15(W 6 07 940 22 | 62042z | 620422
3 |0.27kw 4 11 1200 21 | 620227 | 620227
0.28kW . 4 14 1355 40 | 620227 | 620227
5 |200v ooo
0.4kW 4 17 1425 65 | 620477 | 620427
4 | o6 4 35 1320 78 | 620477 | 620427
0.9kW 4 4.0 1410 142 | 62042z | 62042z

ioovozoovOdOoooooooooooooooooogooOoo
gooooooooooooooOooooOobooOoO0oOooOoOOOOO0O0OOOObOOO0OOOOOCOOOOODOObOO
00oooooooooogoogo
go0oooooooooooooOoOoOoOoOooO0oooooooooooOoooooooooooooooooo
ooooooooooo
400v000000000000000000000000000000000000000000000000

14



LFM40O DO O0OO0OO LFM4[]
C )

mLFMAO DO ODOODOODODOONO.50NO.70

oo ooo 0000 |0D00000 ({0000 ooooo oQ

NO- |y e e s A min®°" A 000 |oDooo |00
0.5 6 4.0 950 23 620527 | 620477
> 1.9 4 8.1 1410 52 6205ZZ | 62042Z
075 |DO0O I 6 4.4 920 21 | 62062z | 62042z

6 2.4 IP40 | g | 200V 4 Hed 11.6 1420 73 6206ZZ | 62042Z E

ooo
; 1.2 6 6.4 945 36.5 | 6306ZZ | 62052Z
35 4 14.6 1420 103 6306ZZ | 620627
m000dO0

goooooboooooooooooboooobboobooooooobobooboboooobooooboboon
goboooboooooboooooooboooobobogoboooooDo
goooboobobobobooooobobobuoboooobobobobobooon
gooobobobobobooobobobobooooobobobooboo
goONO.leLFM4O0 DO OODOOO0ODOOODOOODOO0OODO0OO0ODOOODObOObOOOO

NO.1 & NO.20 No.3 NO.4
% I I 9é

RHBORILN | I ] RHABORILN
h &R

15



( LFm4D Y EEEEEERD

0000
e[lJ000DOOOODOUDODOODODODODODUDUDOOODOODOODOODOODDOODOODO
bobooboooobobooobooobooobooobobooooboobooooboooooboboooOoon
gbooobooooboooboobooooboobooobooboooobooooobooobooboooooboon
OONO.1 2:0NO.3 LFM4AO OO ODOOOOOO0OO0O0OO0oboboobooooooooooooo
gooobooobooboboooboooobooooboobooooooboooboooboooboooboooboon
gboboooboooobobooobooooboboboboboboobobobOobONo4 LFMAODODOOODOO
gboooboboobooboboboobooooobooooobooboobooboobooboooobooogn
gooooo
e[lJ000DO0OO0OODOOOODOOOOOODOOODOOOODOOOODOOOOODOODOO
gboooboooboooboobooooboobooboobooboooboobooooboobboobo20b00m™on
goooboooobooboobooobooboobooboboooobooobooobooobooboooboooboon
goooboooobobobooboooboobooboobobooobooboobooboooooboboooDoOoon
gooooboboooboboboobooobooboobooooboooobooooooobobobooogon
goooboooobooobooooobobobobooooobooooobooooboooobOobooboo
goboooooooboobbogobboooobooobobooboobooooDo
e[lJ000D0OODODODDUODOOOODOODOODODLODODOODOODOODOODOODO
goooobooobooboooooooboooboboooobooooobboooobooDOobobo
goooobooobooboobooboooooooooDoooooDoDoooobDobOoooobooogo
gooooooooobooobobooboboooboooDo
e[lJ000DO0O0OODOOLOOUDOOOODLOOOOODOOOODOODOODOOOOODOODOO
oboobooobooboboboobooooboooboobooooboobooboooobooogon
goboooooobo
NO.1 2.0 NO.3 NO.40 NO.7
NYRTF—TF RN H/ISVY

| 7o

16



17



